( A

{iv) Find the remaining volume of metal in cublc centimetres when the cylinders given in above (iii) are
made.

13. Cusicms duty of 14% has to be paid when a certain item is imported. The value of the item without
the duty is § 000 rupess.

{i) How much is the customs duty in rupees?

(if) 1F the vendor who imported this item marks its selling price as 10 944 rupees, what is the profit
percentage he expected to be eamed?

1
{ii) If a discount of 35 % is given from the marked pricz when the item is sold for cash, how
much is the discount in rupees?

(20 marks)
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2. Solve:2x-3(6xr-4)+20=0

3. Find the factors of the following expressions:
i P-2-24 (i) 3y 27y
4. In the given figure, ABCD is a sector of a circle and ABD is a tiangle. Find the area of the shased

region. {Use % for the value ofx.)

A E<7om»B

e

H4em

W7

5. The sum of the first two terms of an arithmetic progression is 11. The third term is 1. Find the first
term and the common difference of this progression,

{See page three.

-5-

(iii) If the number of customers who bought only chick peas is 7, how many bought both chick\
peas and rice?

(iv) How many bought only rice?
(v) How many bought at least two of these items out of these three items?

""""""""""""""""""""""""""""""""""" T 20 k) O

12. The cross section of a solid right prism made of metal takes the shape of a right angled triange.
The two sides that include the right angle are of length 8cm and 7em.

{ The volume of a solid right circular cylinder of radius 7 and height 2 is x7%h . Use % for the value
of x.)

(i) Find the area of the cross section of the prism in square centimetres.

(i} If the length of the prism is 1lcm, find its volume in cubic centimetres.

(iii) What is the maximum sumber of solid right circular cylinders of radius 3.5 cm and height
1.5cm can be made with the metal obtained by heating the prism?

[See page six.
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6. In the given figure, ABCD and AEF are straight lines and EBHFC.

Moreover, BAE =30°, BﬁC = 55° and CFE = 7(°. Find the magnitade of each angle given below.

il A A A
(1) BEF (2) FCD (3) ABE  (4) BCE
D
C ----------------------------------------------------------------
B nnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnn
307
A 7 S —— e et

....................................................................................................................................
....................................................................................................................................
....................................................................................................................................
....................................................................................................................................

....................................................................................................................................

7. Of the spectators at a cricket match, 4 were seated and the rest | 500 were standing.
7

(i) How many spectalors were seated?

...........................................................................................................................
...........................................................................................................................

...........................................................................................................................

{ii) If the number of female spectators was [ 250, write the ratio of the female spectators to the
male spectators in its simplest form.

..........................................................................................................................
...........................................................................................................................

...........................................................................................................................

8. The mean of the masses of 6 children is 34 kg. The mean of the masses of another 3 children is
37 kg. Find the mean of the masses of these 9 children.

....................................................................................................................................
....................................................................................................................................
....................................................................................................................................
....................................................................................................................................

....................................................................................................................................

[See page four.
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9. Write the equation of the straight line that passes through the points (0,4) and (2, -2) in the form
of y=mx + c.

....................................................................................................................................
....................................................................................................................................

....................................................................................................................................

10. A persen who took a loan of 12000 rupees at a simple interest rate, settled the loan in 6 months
by paying 12900 rupees.

(i) What is the annual simple interest ratc charged?

...........................................................................................................................

(ii) If this loan amount is taken for two years at the above annual simple interest rate, what is the
total interest that has to be paid at the end of the two ycars?

...........................................................................................................................
...........................................................................................................................

...........................................................................................................................

(04 10= 44 marks)
Part II
11. Information- gathered on the customers who came to a certain store on a certain day and the items

bought by them are shown in the given Venn diagram. According to the information, 85 of them
bought rice, 30 bought chick peas and 48 hought milk powder,

customers who customers who
bought rice — bought milk powder

customers who bought chick peas

(i) If the number of customers who bought both rice and milk powder is 30, how many bought
rice or milk powder?

...........................................................................................................................
...........................................................................................................................

...........................................................................................................................

(ii) The number of customers who bought all these three types of items is 12. The number of
customers who bought both milk powder and chick peas is 15. How many bought only milk
powder?

...........................................................................................................................

...........................................................................................................................

{5ee page five.
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@ Read the following text and do the activities that follow.

Communicating with someone who is angry, is one of the most difficult challenges a Customs Inspector
can face. The challenge of someone pounding their fist, shouting at you or making unfeir demands,

................................................................................................................................... forces you to respond as a disciplined, controlled and effective communicator.

................................................................................................................................... When you are put face to face with hostility, the natural human response is to react in kind; however,

AAAAAAAA in most situations, this is not an effective strategy. The key to breaking the cycle is to establish 2
murual understanding. By finding a common ground, you can resolve the conflict and begin to build
communication step by step.

In order to be an effective communicator, you need to shiff the exchange from the emotional to the
A N T R S A S T Sl S R AT 45 At rational. When faced with  situation where an angry and demanding individual or group has a list of

you need 10 icate both with an understanding of their grievances and a willingness
to collaborate to address them. The four simple steps to ‘defuse the homb’ are;

Inguire; Being a focused listener calls for inquiring about the other person's issues and concerns. The

goal is to not interrupt and to encourage them with eye contact and head nods.

Empathize: This means to connect with somebody on their emotional level. To relate to them you
must first say, “I (appreciate, understand or share) your (frustration, doubt or concern).” Then, you
must commiserate by saying how in the past you too have feit similasly.

Ask permission; Asking whether or not an angry person would like to hear some relevant information
puts them in control, and thereby decreases their tension. Permission questions communicate that you
are a reasonable person doing your best to reach an understanding.

Explain and offer choices: It is soothing for the upset individual to have a choice of solutions explained
to them. The more solution options you offer for a course of action, the greater their sense of control

becomes. This puts them in a more rational state where you can together begin to resolve the situation.

It is important to realize that this model does not always move in a simple and lincar fashion. You
may often find yourself in a situation when some residual anger surfaces just when you thought the
B T T problem had been solved. You may have to recycle through the model again or spend a longer time

on individual steps. For example, an angry individual may take a long time to vent his or her initial
. anger. Remembering that anger is essentially fear turned inside out, you must let them express it ail
“““““““““““ (25”“”,“) before yon can move to a more rational platform of cooperation,

® ¥ % [See page two.
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1. Write TRUE or FALSE in the space provided based on the information in the text.

(i) Well-trained communication skills help a Customs Inspector get out of a tensioned
siuation successfully,

{ii) In most situations, when put face to face with hostility, one should react in kind,
(i) It is more important to show an understanding of your partners’ grievances than to
try to solve them.

(iv) Empathy means relating to the others’ problems.

=

Asking for permission helps to increase your partner’s sense of being in control of
the sitwation,

31

It is important to let the other party relieve their tension before you go on with
your {ransaction;

(06 marks)

2. Wiite answers to the following questions.

(i) The writer indicates four simple steps: ‘Inquire’, ‘Empathize’, ‘Ask permission’ and ‘Explain and
Offer choices’. In which of these steps does the writer recommend {0 communicate personal
experience of the communicator with the person who is angry?

(i) What does the hold typed word ‘this’ in the second paragtaph mean?

(iii) What does the writer mean in his expression ‘defuse the homb’?

(iv) What does the writer mean that the model he proposes does not move on a ‘linear fashion'?
Briefly cxplain using your own words.

(V) In the text, writer gives his personal definition of anger. Write it.

(10 marks)
3. Write a word, slecting from the passage, which means the same as each of the following:

(

=

speak to show somebody sympathy when they are upset

(i} a situation in which people are involved in a serious di

(iii) remaining at the end of a process

(iv) something that you think is unfair and that your protest about

= =

[See page three,

Customs officer : And what's the purpose of your visit, madam?
Lady A

Customs officer ; T see. Well then, you understand that you've come into the Green Channel, which
means you have nothing to declare?

Lady B9 semamasessssmsrrsssavss

Customs officer : Is this all your baggage?

Lady T

Customs officer : Is anybody else traveling with you, madam?

Lady 58 05 msomenentes sy

Customs officer : OK then. What type of goods have you got; cigarettes, cigars....?

Customs officer : Nothing else at all in the tobacco line?

Customs officer : Any drinks at all? Spirits? Liquors? Wine?
Lady & Wammmr i s

Customs officerls Were those bottles purchased in the duty-free shop, or .7
Lady AL e

Customs officer : 1 see, Are you bringing any gifts for anybody in Sii Lanka?
Lady D G T T e

Customs officer @ Any other valuable items-jewellery, laptop?

Lady S T ———

Customs officer : OK. Thank you, madam. Would you let me have a look in there ... Is the laptop
going back to India with you?

Lady A
Cusioms officer : 15, \.evvvcemmmeearennnsinresrnens
Lady : No, T don't.

Customs officer : That's fine. Thank you very much. Have a pleasant stay!
(15 marks)

Test 6

Write an essay on the following topic, Use about 200 words.

The Drug Menace in Sri Lanka,

[See page eight.
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The two candidases are mueh of a muchness.

(1) very similar () very dissimilar  (3) very atiractive  (4) very cld
. He owns a surprisingly roomy car

(1) less spacious  (2) spacious (3) comfortable 4) attractive
. The cows are allowed to roam freely on this land,

(1) enter (2) find food (3} enjoy 4) wander
. Our journey soon became tedious.

(1) interesting (2) pleasurable (3) boring (4) regrettable

. The autopsy on the child revealed that she had been poisoned.

(1) death (2) investigation  (3) post-morfem  (4) report

(10 marks)
Test 5
Given below is a conversation between a Customs Officer and a lady. Fill in the gaps in the conversation

by selecting most appropriate utierance in each blank from those given in the box. Write the appropriate
uiterance in cach blank, Use one utterance only once. There is one exwa witerance.

Utterances
. Well, the wine is & present, but that’s all
. No, I don't use them.
No
. Yes, of course. 1t's my working tool,
. 8 you live in Sti Larka?
. No. ] have never brought.
. Tor § days
. Just two bottles of red wine,
. Yes, that's all.

o eo =3 N th B Ly B>

=

. Yes, at New Delhi Airport.

. Do you have a camera?

=)

. No, just my personal things.
. Yes. I do.

= o

. No, I'm traveling alone.

o

. I'm here on business.

Customs officer : Would you mind putting your baggage on here, please madam? Where are you
travelling from?

Lady : From New Delhi.
Customs officer : New Delhi. Are you a resident in India, 0 L «oovvvvcernenmincnnvennnes
Lady 1 Dermemmsmotynn

Customs officer ; Can T see your passport please? OK. Thank you. How long arc you staying in
Sri Lanka?

J

[See page seven.
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Test 2

@ Summarize the following text in your own words. Use about 175 words, Indicate the exact number of
words you have used at the end of your summary.
A patent is an exchusive right to use an invention for a certain period of time, vhich is given to an
inventor as compensation for disclosure of an invention, Although it would be beneficial for the world
econotny 1o have uniform patent laws, each country has its own laws designed to protect domestic
inventions and safeguard technology. Despite widespread variation, patent laws generally fall under one
of two principles: the first-to-file and first-to-invent. The firsi-to-file principle awards a patont to the
person or ingtitution that applies for a patent first while the first-to-invent principle grants the patent
to the person or institution that was first to nvent and can prove it. Most countries have adopted
the first-to-file system. However, the United States maintains a first-to-invent system, despite obvious
shortcomings. A result of countries employing different patent law principles is inconsistent of patent
ownership.
Patent ownership is not tecognized globally. On the contraty, ownership may change depending on the
country. It is not urcommon for an invention to have two patent owners-one in the United States and
one in the rest of the world. This unclear ownership often has economic consequences. If a company
is interested in using a patented invention, it may be unable to receive permission from both patent
owners, which in turn may prevent manufacture of & particular product. Even if permission is received
from both owners, pay royalties fo both may be quite costly. In this case, if the invention is uscful
erough, a company may proceed and pass on the added cost to consumers.

International economic tension has also been increasing as a result-of differing policies. Many forcign
individuals and companies believe that they are at 2 serious disadvantage in the United States with
regard to paient ownetship because of the logistical difficulties in establishing first-to-invent status.
Further, failure of the United States to recognize patent ownership in other countries is in violation of
the Paris Conventions on Industrial Properties, which requires all member nations to treat all patents
equally, The conflict surounding patents has promoted the World Intellectual Properties Organization
(WIPQ) to lobby for universality in patent laws. WIPO maintains that the first necessary siep mvolves
compelling the United States to te-examine its patent principle, taking into account the reality of a
global economy. This push may indeed result in more global economic cooperation.

[See page four
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(20 marks}

Test 3

® Complete the following text by enderlining the most appropriate word from those given within
brackets.

For cormunication to work and get the response or reaction that you want, the receiver must understang
the message that the serder is sending. To make this possible, the message should be: Clear, Simple,
Accurate, Complete and Relevant,

This sounds easy enough to do but there are quite a few of those little gremlins that get in the way
Of (I vosssssanin (efficient/ effective / effectual / professional) communication.

{See page five.

)
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Attitude: Your response to the request, “wonid you be able to say this afternoon aod help in the
office™ would be very different if the (2) ..................... (demand/request/ memo/ message) was
given by a sender you fiked and wanted to impress than it would be if the same message was given
by a sender you (3) ... ... (distiked/ hated / detested/ disapproved). The communication from
the sender you want to make 2 200d (4) ...coovecniinneen (impact feffect / influence / impression) on
would have got the desired result, you would have helped in the office. The sender that you have

[T )| e —— (feeling / artitude / inclination / dislike) towards would be doing the work
himself.
Timing: Moreover, teenagers are €Xperts (6) .....cuuiivivvianee {in/at/ about/ on) timing! Don’t you just

know the right time to ask your father for some money you need? Even if your communication is
clear, simple, accurale, relevant and complete, you know that it won't be effective (get the money) if
you ask when the teceiver (your father) is in a bad (7) ..cocovvvvnecrreiene (state / sympathy / disposition
/mood), has just come home from a hectic day, has just seen your report or messy bedroom.

Tone; The “Oh, go away” that you laughingly say to your friend who is teasing you is communicating
a very different message to the “Oh, go away” that you say 10 YOUr (8) .ovvvvervvvenrirnns (frustrating /
irritating / vexing/ disturbing) little brother when he asks if he could bomow fifty rupees. Same message
but very different tones that convey very different meanings!

Purpose: Communication is done usually to remind, reprimand, persuade, request, encourage or inform.
Your reaction to any message would depend (9) . .. {upon /by /onto/on) the purpose
of it. what the sender was trying to (10) (make / get/ persuade / convince) you, the
receiver, to do.

Capability: Tt is equally imporiant for the receiver to understand the message, given in the right tone,
at the right time for the right purpose, but useless if the desired result is beyond histher capabilities.
- g . (10 marks)

Test 4

In each of the following questions, underline the word/pt which is closest in meaning to the
word/phrase bold typed in the given sentence,

He defests state sector employment.

(1) approves (2) is fond of (3) loathes (4) demands

, The entire discussion revolved around a moot point.

(1) an unrelated issug
(3) a controversial issue

(2) an important point
(4) a non-controversial issue

. The bare bones of the conversation had been the weakness of the Management.

(1) the detailed analysis
(3) the naked truth

(2) the main point
(4) imelevant facts

. The company has locked horns with the unions over proposed salary scheme,

(1) got involved in a disagreement
(3) swarted discussions

(2) agreed completely
4) negotiated

. The land was parcelled out into small slots.

(1) divided (2) donated (3) estimated (4) identified

|See page six.



